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No supplementary answer-book will be given to any candidate. Hence the candidates should write the

answers precisely in the main answer-book only.
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All the parts of one question should be answered at one place in the answer-book. One complete question
should not be answered at different places in the answer-book.
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Arttempt any five questions. Selecting one question from each unit. All questions carry equal marks.
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UNIT-1 /3%13-1

What are the objects of Cost Accounting? Differentiate between Fmanc1a1

Accounting and Cost Accountmg : [10+10=20]
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tails of receipts and issue of an item of material for the month October, 2023 are |
as'under - | [10+10=20] :

geawa@-\r, 2023 & forg Rt @ v& wg @) wifts va frfae @ Ravor Frefiiea
TPR ¥ & —
T1MOct.  Received 100 units @  6.00 per unit
5" Oct.  Received 200 units @ T 7.50 per unit
10" Oct. Issued 150 units
13" Oct. Received 100 units @ Z 8.00 per unit
15" Oct. Wastage (informed by inspector) 10 units
20™ Oct. Received 200 units @ % 10.04 per unit
25" Oct. Issued 250 units
Material is issued to production departments by weighted average method. Record

‘these transactions in the Store Ledger separately on the basis of following two
Jnethods -

g) Wastage of Material is treated as factofy overhead.
:(:2) Cost of goods unit is inflated by the cost of wastage.
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UNIT-II / g&1s-11
What do you mean by Labour Turnover? Mention the various methods of its
measurement and explain what is the impact of Labour Turnover on working of a
manufacturing concern? _ [6+7+7=20]
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“The overheads of service departments are charged on percentag
TP PR A A Sera T e & R R # ) 3

forfarRaa ufererdi @ smar 9= =rof féar oirar @
Department Productlon,departmemﬁ



UNIT-III / gep1e—I11
Qhe following figures have been obtained from the

the cost records of Megha Ltd. for
%‘m year 2023 - .
%ﬂfﬁfﬁgﬁ%ﬂézona%%qﬁmmé@a%mﬁ@f%m%ﬁﬂﬂ%e
b 7
<

Cost of Materials 2,40,000

Wages of Labour 2,00,000

Factory Overhead 1,20,000 '

Distribution Overhead 56,000
_Administration expenses 1,34,400

Sf:llm0 expenses 89,600
Proﬁt 1,68,000

_é work order will be executed in the year 2024 and for that cost of materials will be
] 32,000 and wages will be X 20,000.

Assuming that in the year 2024 the rate for factory overhead will go up by 20%.
Distribution charges will come down by 10% and Selling and Administration -
charges will go up 12 %%. At what price should the product of the job be quoted so

as to earn the same (earlier) rate of profit on selling price? Administration, Selling

and Distribution overheads are based on factory cost. _
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10.

A product passes through three processes for completion, During the quarter ending T
31% March, 2023 the costs and production were as follows - ‘ Y - [20]
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Particulars X Y Z Total
V) A 4 L4
Direct Material 20,000 30,200 34,620 84,820
Direct Labour 30,000 40,000 50,000 1,20,000
Direct Expenses 5,000 2,260 - 7,260
Production overhead 60,000

(50% of wages)

Normal loss on input 10% 5% 10%
Sale of Scrap per unit 30 50 60
Production (in units) 920 870 800

1000 units were issued to process X at the rate of Z 50 per unit. Prepare Process
Account.
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UNIT-V /3®%15-V

Write short notes on the following -
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(i) Break Even Point Is1 -
FH-faws fag :

(ii)  Margin of Safety [5]
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(iii)  Angle of Incidence 51
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(iv)  Key Factor . [5]

Find Material variances with the help of following information -
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Material A 120kg @ 5 perkg
Material B 80kg @ 10perkg i
Standard yield 140 kg i L i
The Actual mix and yield were as follows - "




